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Day 4 - Y-intercepts — Notes

A y-intercept is the point where the graph crosses the y-axis. Its coordinate will always be the point (0, b)

where b stands for the number on the y-axis where the graph crosses and the value of the x-coordinate will
always be 0.

Ex. Identity the y-intercept in the following representations:
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Sometimes, it will not always be clear what the y-intercept is by looking at a table. However, if you understand
that the x value of the y-intercept is ALWAYS zero, think about how you would get back to zero for the following
tables:
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